D3H

D1H (k) D28 (K) D3H (£)
B4 Bad —A&Y | |#zs Bndb —A&Y | |#zs Bmdb — A%y
ERDE ERRE ERNE
K |gEX 60| [E [HEE% N ESNETEES 80
R [a5% 20| |= 80 [kpuzE 0] > [BE& 4
o [B0E 7 f,ff E %) 1-LER i
5 Bif 0.8 E S 206 y1{3 12
89 ) moE MY (ke 07| |4 & |EHECEERE) 10
£ 7z, |FAR)FA /50| [z, |BIE 1.1
L 45 206 FILE) Ff $170 AGEZU_100-200 15
h 7 [BE 2| v & 3
v MmeLDY %530 0) BiE 03| |+ SIS SEAE(CIRANESD) 8
BELHY mso| |= [calp 8l € [AB 8
”Tfﬁz (mELHY £160(30 x 2) f Y eY:: 5| [# [mgurE—x 5
o (P PV al |7 [EFucE 3 3'; %) SHEE TLA 1
z  |[UEFREY—Z Mo 8l |7 [EE 04| lzn  |mFLLLEY 2542 0.8
LSS 36| |z (LB 25
N e 30| [1+ [FEHE 18| 14 [&EH&E 2
1248 |Joyay— Avk 10 bbii] 1.8 AR 1.6
L AS 5| (B% 93 [pbgE (L EgE) 18| [
WTiE os5| 1B 3 15| |F 2|47 206
# s L
» [mEE Ak 20| & [gwL sl [t [Chzcsmz 10
y | ERE 30| 47 |z 30| | [FEERY 30
L |AoEfRHT 5 |4 7 |8 kit EHDY | [Ee3Y 15
| L rYd 5| [ |EOEH 1l |l |AS 8
7 |EkHsE 8| | B EOEH 25
~ " \HHE 3| [t [migg 7| 1 | R 0.5
N e eLgive s 5 £584 20 68 sy mmok Yy (1ke) 15
P [e 120 KR 15
0) 177
Y A5 8 RRENFIET () 6
- |WE#mMAIL—TF 40 P 5 FhE 30
LWl RSAR 5 hhF 5
hHZ 6 %) FLbhhd Ak 0.5
HHZ 4 AR 1
2 E) ELAEFL 4 B 0.9
7K 150 EOE 0.3
¥ ELEIYE k= 4
F)ELER 0.5
5k 140
8 (B U EHON 8




D3H

D6H (A) D78 () D8H (K) D9A (K) D10H (£)
4 Bmb — A&y | s Bmb —A&Y | |#z Bad — A%y LA Bndb — A&y Bmdb — A%y
EERSE EERDE ERDE ERRE nE

o EPAY 60| (% A% 70| |7 |[E)PTIEA H-m3 200| [E  [#EE%X 70| |3 60 [3yR/8y 60
¢ R |pmz 10 | [EPT3EA a6 os0| € [riE 0] |7
:\{, T 206 ‘i’“ HEDLOE 4.2 _1) BB TSE A B 300 //\ 4Bl XS5/ 30 :‘ 43 206
. - [BA_RIA4R 25 1IZA1X 1.5] ¢
~ ~ 206 [ = & N < ~ —— ~

B M BAEL Huk 12| | e 208 |4, [HET 10f | CFEil 1 %) LD S (2 x dom) 40
4 BB b REL Avk 8| | A FhE 0| [ [BROEH 25| | [EE 1
3, [8E5B B8 sl 1] |y BEA SUF 15 | |AS 10] |1 |BHEEERE 113 |BE 0.2

ARy ASAR AL 5[ |~ [XE 70| [EL LWL RS54 1| A [—BRESASL 0.01 BIREKE 15
S [LRhXER—Zb 20 AB 10 HhE | |~ [EShAE 30| [\ [cA® 10
E [Centng a| |F [ATUrE=2 5| |8 [y55m 1 ROEH 15 [P |t 5
% EhF s [* [z 0.5 f)ﬁ EOER 10 f'i 3 0.3 ;—; EhF 25
5 HENZES 20| | [FS%H 05) 5 |[Z#HYA 35| [ [HL | |5 |[£2 05
y o |AE 10| [3p [REOEHH 33| | [E)AL—H 07| | [AZ 12l |p Al 05
I TY ¥ Ak 8| |l |EPHECEENE) 2.2 DARE—Y—R 05| (v |BEE 24| |p  |CEH 0.4
L |23 05| = [BE 1l L |BE 04| [» |ZFh 1.5 [y FRETFryT (1ke) 8
2 | B35 1 |IF | R&HEYA 1 |7 |rxarvs g-miss 03| (A [EOEHm 1.2 | (WA 1.6
7 hEY 4 |12 |TAk 05| [F [TAM 45| (Y [EhE(EEH) 12| | | &E 08
IJ Y5458 35| |& "Lt 10] || o s rimum e 5 *9\ o grie 02| |£  [BOEm 038

i \A— 0] | A s 150 Q) o |EBE 038
= LR ABR—F 3 |4, |LDAEE 25 ;\ 20 = e 206| |- |EARE 0.02
4 |BE 07 ¢  [HHET 5 m |&EL 206/ || % = 3
L [EL&D (300g) 005 |4, |SIES SapE 10] | 5 |e—2 L B S 5| |3
A |FErasvs a-mEms 05( |5+ [2EZAIZRL 1| |&  [FeRY 30 AW 20 TRy 30
¥ |4 GRER 1L 30 FhE 5/ [~ |Ew3Y 15[ [Ly | ERE 30| |12 [AZ 5
FARN =270 e NG TS 2 RO 2 ) —La—> 5/ (5 [ 3| |~ % Tk 05
7 |[o—yzx 0.1 a5 0.7 &) EEIVIR 12| | [mFLbrs svk 0sl| |V
" s 60 ) ELBIYE Rk 4 BE 3 ﬁ BECE BY (k) 05 |7 [ soin e 5
£ ) ELER 1 ROEH 3 1] Y543 05 EhE 25
o LR FECHHE 10 1K 120 (D2 AG =L ) 15 [ LB ABR—F 3 Cehirg 25
s A 25 CEil 05| [ [ROEMH 0.8 A 7
¥ o |Ew3Y 20 61 [ 5S475H 05| (o |BE 0.7 +Ooy— 5
L | ERE 5 ®)ECE BHY (ke) 1] [&  |SL&LS (300g) 0.03 A 0.5
< |tOy— 1 15 ~  |3Fravys nemigs 0.5 LR A R—F 3
l‘, YACEE 15 ) BfEEF— R (L7 F—R) 15 CFEH 0.2 BiE 0.7
?j &R i s (i 140 ZL&>5 (300g) 0.03
5 F)—JH 1 FELaLUA I-PEE 0.3
. |ERECERNE) 0.6 B LB €Y — 40 BOEH 0.2
N |BIE 0.2 bl 120
th 65 |2L&5 (300g) 0.02
1)
N [ R e 16




D3H

D13H(H) D148 (k) D15H (k) D16H (K) D17H (£)
4 Bmb — A&y | s Bmb —A&Y | |#z Bad —A&Y | |#zs Bndb —A&Y | |#zs Bmdb — A%y
EERSE EERDE ERDE ERRE ERNE
T80 s I RESE=F 70| [P 50 [emyn—noe mAn -2 40| [ |EEEX 70| £ |@ax 70
(% S 80 [y 10| |1 [@memooosm h3-6 50| (A [kpE 10| |S 80 [kpz 10
=] 206] |'& L I 60| | 82 [rEAHDHGD 22| |1&
4 A e g 206 '/\ 7 e lre 206
g, [|[BA 2512 20| |4 L2 206 |4 |45 206] |4
b 1|z |BEA _S2F 20| | — 7z, [B<b 50
B |[Essg v an 15 HAEE 70| A |[BR8ETFL0N=D) 35| [ [BEHE RFAR 35 E504 5Bk 6
H | EhRE 35| | |EhFE 45| |V |pTiE 15[ A [EVLIIES 35| [ |[EDEDOYH 0.3
2 (A 8| || [Az 15| |~ [AbsYsEs 0] Y [EECAzeC 30| [< [k 12
B A eunalfia 7| |1 |eeockaon s 10 AW (1 x 4om) 10| [~ |AS 15| | 72 |#t-tasl 4
% 8) FLLLF RS54R 1 l_ FoHTHA 10 ﬂi A)EEZV 100-200 10 ® AESPVATFA 7 ;)E
; =OEm 3.2 ];i; B FLLLEIE 2542 1] ™ [5e38 8 asw 2| [ [#3 1| [eeL 30
&5 s (=588 2.8 4= 0.7 #g |Rooay Asex s 5 O 5 8 A 25
BiE 03[ | [ISAIK 03| | |ELE 40| g |BHYA 2| i |AZ 10
EF 40| |z |YS4H 1| |22 |[LRrerkE 54X 25| |py |BbEE (R IUE) 2 EOEH 25
) B |r=EFevT (k) 6/ |[R [L®HL 10| |& |BHE 1.5] |1 [RUBE 0.5
T |o—zns mm s 5| |7 |&E 35 [V |zurE puk 8l 1= |cA® 05| 299 ez wy (ke 1
D ey 20| |¥  [BOZmH 35| [7 [Am R ARES
g E¥i4 12 LR ASR—T 3 : 1Al 0.3 a')) ga g 5
W -1k 2 KA 2 Y5 2| & [E>hAZE 20f |5 | KR 30
P MHoLip 0.1 FHL VYA 5L BEEE 05| |x |BEE K (1.8L) 5 % 3oL 20| |uyy EhRE 20
z OlmacE vy ke 1 (B 05| |18 |[F=boFryd (ke 5 FrRY 20 LoL 10
Bif 015] |4 |DRE—Y—R 1 |7 |BOEH 25| [k |AZB 7
H 0 HsYEE 10 EiRE 01 |7 |[E¥E(EEH) 1 |1 Y5455 15| [ [ 5
& CEH ol| |¥ [& 04| [ [&E 15| | [h#HE 7
Y ThY 2| |, [SL&S (300g) 005| |~ |Eb¥E(LEH) 15| |#  [Haz 6
? =5 40| |B " |zxranyx si-mins 03| | [7r—=r 8 1| | |[mrLETL 4
fa 2 [omesmnL o01] [T 70 [i7 ek mm 5] [T =[5 110
D=2\ G DEE 1| (L [BF=X 3
&) (255% <
3L 20| | [XE 30
=Y 15| [~ |Ew3Y 20
AS o] |'v (Az 8
O 25| [P (g asER 0.5
BEE 2 gi B 25
2 AG=E; ) 15| [0 [BOEH 2
CFEih 1 [y AGA=E ) 1.5
noLEH 0.05 67 [ 4S4H 0.5
65 e moE By (ke) 1 CEil 0.5
5 g iEM DB 1
() ERALLS Huk(1,/4) 50




D3H

D218 (k) D22H (k) D238 (K)
g Bmb —A&Y | |#z Bad —A&Y | |#zs Bndb — A&y
EERDE ERDE ERRE
360 g8y 60| |F |#EE% R ERNETI=ES 70
2 * o [xuz 10] | 8 [xprE 10
0 SR 206 ; ) BEAVE MELL 12 :‘f
9 2 s semul 8 E S 206
B M ELL Avk 6| |z |BE3E B (8L 1 |4
4 |8 b mEL Bk 4 [~ |ELE 20| [z, % [ xFOBENE #11\50
2, [Ezoqor— -mikE 20| | [AB 10 B EEDHTLE F170
LR ST 50 15[ (A |ZULXE Avk 8l |=
£ |AEHS 30| |Y [T UE—R 5[ |1E s 30
B [Lestlrd 50| [~ [HEE— 06| [P [£0L 30
g‘; Fh¥ wl |, [$35H 05 ‘77;2 2O 25
5 AS 10 3 FRRTFry T (1ke) 14 n R EE 0.5
P A )] 0.5 DRE=Y =R 1] [ * |Z0EDDE 1
| BS54/ 1] |5 |[Fxravvs si-miks 0.6 B)ETE HY (k) 0.8
& |AENE B (18L) 2 || Bif 05| |8
pimEg] 1.2 v "' |2L&S  (300g) 0.05| [ | RSM4R 10
¥ (BECER 08| |A = |eozns myyem 30
Yo lreasya s 05 '? 2043, 26| LU [ELSIES 10
‘3 ) HL—8 03] |, 5 A2 10
k Bif 0.3 5 FrRY 40 i DEZAITRL 10
4 [EL&kD (300g) 003 (5 [E®3Y 20 phE 5
s & 20 B EHMA 15 EH% (1ke) 11
A L 82 laonzo—tiorsy somums 7 00 gy ELEFL 35
LR FESCHHE 10| |% 7K 110
£ |AS 25| |2 [z8OR 20
B ETEY 2| |?  [Lgx 20
?‘; Fh¥ 5| |7 [ERz 20
W +0O!)— 1 Sy AS 5
Y YACEE 15] |z [@2U)—=Lba—> 20
y | BEE R 0.5
| A= 1 |7 |[LR)ASR—=T 3
Ls (e 0.6 b} 1
~ |BiE 02| |7 [BROEm 0.7
65 [2L&> (300g) 002| |V [&tE 06
gi 7 [EL&S (300g) 0.04
o |UBE=FvvHY—L 15 PN e =L 0.5
th TAH 0.5
o 202 /’3‘ 110
P
~ 80 (@ Ty 60




